[bookmark: _GoBack]In an effort to prevent increased obesity, your state proposes a tax of 30% on soft drinks containing sugar. Assuming that this is a competitive market, use your understanding of elasticity and tax incidence to evaluate this tax policy. Is it:

A) an undesirable policy because soft drink prices will rise
B) a desirable policy because soft drink consumption will fall
C) an undesirable policy because there will be little impact on soft drink consumption
D) an undesirable policy because there will be little change in soft drink prices
E) a desirable policy because soft drink prices will rise
